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***********************************************  

1.  :�5����9���:<AB� 
 *��+  �,-�.�/0�1���2&������3�����45�62&7����85�589,380���:-;��9��1�<�7�=&99�6�95����<23�><   

3�?�9� ��3�@�.�/0�1/%<A�5����3���5<8&9��-,%4��%4�5/%/�8�<AB�   3B��   CD/A�/1  3�7�  B�<<A�5�  <A.<���7.�/0�1E4�
9?��F  �!�*%&�<�7�=&���2&������3�����45�7����:-;��9��1�<�7�=&E4�3�����45�0���F 95���67�%5�2�A��    GH��/��I4*%&3�A2
���E/�<�70?��0-< ��/-��7���0&9����3��5��=&3�?�9���<���2&������3�����45�3:A�77��8HJ�3B���-�  

.=�51����3�����45�E%��B�0A   GH��3�@�%��<5����-,IA2B9,���2&��<A -5E4�:-;�� /�-,/������  ���<A -5 0492 ��!�
%�&����*����K��5�923�����45� E4�3I5E:���<�7�=&�<�738&�* ���2&������3�����45�6�/=��4��73�L�%7�50���F 62&�!��H�KH�
���/�&���<�70��%�-�E4�K��5�92�<�7�=&����3�����45�/=�/�M��NB��-J�O���-PE4�39�B��<7KH��4��7���B�B��-�<6�*%&
62&�-,8&97=4 �<�7�=&  ���2&��<AB�������K=�0&9�95����-�<KH�E4���9,�4�7�4��73�L�%7�5*����O=7AO��89����3�.62&    H�7���
:-;�����3:A�7�46����85�59��1�<�7�=&���2&������3�����45�*%&3�A2�<�75-��5?�7��8HJ�   �25��� -2�������QR�9,�7
<A�5���3��?98��5���2&������3�����45�8HJ�3�@��"��� 3  3:?�93�@����/�&���46�/�-,/������3��5��=&���2&������3�����45�
*%&3:A�77��8HJ�   �257���3�&�QR�9,�7I=&���7��<�7/�7��K*����K��5�92�<�7�=&/�8�<A�5�.�/0�1  3:?�9B�<53I5E:��E4�/��3/�A7
���3��5��=&����3�����45�*%&E���4��732>�  35�<B�  ���B�B��-�<6�  E4�I=&����9,���O��9�0/�%���7*%&7��<�7�=&  �<�7
38&�* E4�3�A2�<�70��%�-����2&������3�����45�0�96�   

  
2. �5<CA���=��8  
 2.1   3:?�9:-;��.-�5O�:��=  9� ��51  ��O���-PE4�39�B�   ���2&��<A�5�.�/0�1*%&7��<�7�=&  �<�7/�7��KE4� 
�<�73B��5<B�U*����K��5�92�<�7�=&���2&������3�����45�95���K=�0&9�0�96� 

2.2   3:?�9/�&���46����85�59��1�<�7�=&���2&������3�����45�6�/=��4��7�-�3��5� �-�.H�V� *%&7��<�7�=& 
�<�7/�7��K���2&������3�����45�7��8HJ�*�9���0 

2.3   3:?�9/�&��3��?98��5I=&3B��5<B�U*����K��5�92�<�7�=&���2&������3�����45�*%&7� !��<�3:A�77��8HJ� 
 

3.  ��E�:��� 
 3.1    2&����A7�N : 7� !��<�<A�5���3��?98��5���/�7��KK��5�92�<�7�=&���2&������3�����45�*��=�E,,0���F 
62&  !��<� 15 �� 

3.2    2&����NO�: : <A�5���3��?98��57��<�7�=&E4��<�7/�7��K���2&��<A�5�.�/0�1E4�3�����45�*�3�?�9�����
3�����45�*���2-,���/�7��K3I5E:���<�7�=&���2&������3�����45�*��=�E,,0���F �-J�*���,,E4��9���,,62&95���K=�0&9�  
 

4.  �����;�8��F��������G���5
  
4.1   ��= 9� ��51%�?9I=&3B��5<B�U/�5<A�5�.�/0�13�A2�<�738&�* ���2&������3�����45�7��8HJ� 
4.2   ��= 9� ��51%�?9I=&3B��5<B�U/�5<A�5�.�/0�1/�7��K���5��01*B&/?�9���3��5� ���/9����2&������3�����45�  
       *����K��5�92�<�7�=&62&95���3%7��/70�96� 
4.3   3�A23��?98��5 <A�5������2&������3�����45�89����3�.0�96� 
4.4   /�7��K,=�N����3�?J9%��<�7�=&���2&������3�����45�38&�/=�38&�/=���,,���.H�V�*���5<AB�0���F 62&95���   
       B-23 �7��8HJ� 
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5.  �7�9

�������9�����������������  :  �������QR�9,�70�93�?�9�*��" 2554 
    B�<���� 1 :  QR�9,�7O���XVY�E4� workshop ����3�����45�  

      <-���� 7 _ 10 ��7O�:-�M1 2554 
      /K����� 9����.=�51���B�79��5��<A�5�.�/0�1���3�.6�5 E4�,&��<A�5�.�/0�1/A�A�M� (/<�B.)  . ���7M���  

    B�<���� 2 :  QR��YA,-0A,��5�5,�3<�� �A� (�4��7��� 1)  
                 <-���� 17 _ 18 ��7O�:-�M1 2554  
                 /K�����  O���4�� (5-�67���,�) 
    B�<���� 3 :  QR��YA,-0A,��5�5,�3<�� �A� (�4��7��� 2)  
                 <-���� 24 _ 25 ��7O�:-�M1 2554   
       /K�����  O���4�� (5-�67���,�) 

      

6. ��A����E�:���    !��<� 30 ��  62&E��  9� ��51��2-,7-M57.H�V�E4�9�27.H�V�  (7%�<A�5�4-5��BO-YE4�7%�<A�5�4-5
3�����45���B7��4)  �25�!�%�2��N/7,-0A 2-���J  
  (1)    �0&9�3�@�I=&���7��<�73���5<8&9��-,/�5������2&��<A�5�.�/0�1 
  (2)   7��<�7�=&:?J�P�����2&��<A�5�.�/0�1  3B��  CD/A�/1  3�7�  B�<<A�5�  d4d  
  (3)  7��<�70-J�* *�����!��<�7�=&���2&��<A�5�.�/0�1����3�����45�6�3I5E:��*��=�E,,0���F 62&  3B��  
���/9�*�B-J�3��5�   ���QR�9,�7   ��� -2�A���.���  ����!��������<A�5�.�/0�1     3�@�0&� 
 

7.  ��������
�B������7���������J��	�B7����������������  
 8.1  *B&E,,�2/9,<-2�<�7�=&  �<�738&�* ��9�E4�%4-����QR�9,�7  �0&9�7���2-,�<�7�=& �<�738&�* 67�0�!��<�� 70%   
 8.2  *B&E,,���37A�I4��%<������QR�9,�7 
%7�53%0�  ������37A�I4���QR��YA,-0A,��5�5,�3<�� �A�  �N����7���d  �3�@�I=&:A ��N�E4�*%&8&93/�9E��3:A�730A7  
 
8.  ���<
�<�������
�B���������
�����	�B7����������������  
 �!�%�2*%&<A�5���3��?98��5 ���������d  ���I������QR�9,�7 �!��<�7�=&6�3I5E:��*��=�E,,0���F 3B��  ���3��5�
���/9�  ��� -2QR�9,�7  ��� -2���5  ����!�/?�9  ����!��������0���F  ��� -2,9�12�<�7�=&  %�?99?��F ���3�@����K��5�92
�<�7�=&����3�����45�95���/�&��/���1E4�3�A2����5B�10�9/-��7  95����&95%��<5���4� 1 _ 2 ��-J�/�" �257������5���I4
���2!�3�A����*%&�-,.=�51����3�����45�E%��B�0A�-,���, �257�3 &�%�&���� �����/�&���<�70��%�-�E4�K��5�92<AB���� 
%�?9<A�5���3��?98��5����:�� ��<7/-�3�0���N1 E4�*%&8&93/�9E��3:A�730A7 (K&�7�) 
 %7�53%0�   K&�%��I=&38&���<7�����������*27����3I5E:���<�7�=&���2&������3�����45�E4&<  /�7��K/����5���
�<�7�&�<%�&�*����2!�3�A����3���5<�-,3�?�9�����3�����45�*%&�-,.=�51����3�����45�E%��B�0A�-,���,4�<�%�&�   
  

10.  B7��5
B
�;	
�������9��B7������
���� 
10.1   2�..A�.-�2Ag  3�:��!�   I=&9!��<5���Qh�5K��5�923�����45�E4�<AB���� 

 10.2   ��5��7 A00A  9A������3/�AP  %-<%�&�������B�/-7:-�M1E4�/�&���<�70��%�-�  
10.3   2�.N-P:-�M�1  .�O��   %-<%�&�%��<5,�A���<A3����%1�2/9,   

 10.4   ���/�<3,U 7�/  8!������<2    3 &�%�&����/��/�3�. (���/�&���<�70��%�-�d) 
 10.5   ���/�< �i��-0�1  :�:-�M1  3 &�%�&����/��/�3�. (���/�&���<�70��%�-�d) 
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11.  �5L�<	�/9B���������
���� 
�"�,���7�N 2553 

Q1/53 Q2/54 Q3/54 Q4/54 
 

EI����/�A ���7 
 

 !��<� 
(<-�) 0.�. :.5. M.�. 7.�. �.:. 7�.�. 37.5. :.�. 7A.5. �.�. /.�. �.5. 

�5L�<	���F 1              

1. ���B�/-7:-�M1�-,/7-��I=&38&���<7�������   90 <-�             
2. �N����7���:A ��N��-234?9�0�73�Ni1���
�!�%�2 

30 <-�             

3. E &�I4����-234?9�*%&I=&/7-��38&���<7�������
�-,���, 

7 <-�             

�5L�<	���F 2               
1.  -2���QR�9,�7�<�7�=&���2&������
3�����45� : O���XVY�  workshop ����
3�����45� 

4  <-�             

�5L�<	���F 3               
1. QR��YA,-0A,��5�5,�3<�� �A�  �4��7��� 1 (�4��74� 
15 ��) 

2 <-�             

2. QR��YA,-0A,��5�5,�3<�� �A�  �4��7��� 2 (�4��74� 
15 ��) 

2 <-�             

�5L�<	���F 4  
1. �-2���B�7��5���I4���2!�3�A����89�
<A�5���3��?98��5������� 1 _ 4   

1 _ 2 ���l��7 2554 
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(����) ���:�����    
�������QR�9,�7<A�5���3��?98��5���2&������3�����45� ������� 4 ��� !��" 2554 

 mTraining for the trainer in Nanotechnologyn 
��%<���<-���� 7 _ 10 ��7O�:-�M1 2554 

N ,&��<A�5�.�/0�1/A�A�M�  E4�.=�51���B�79��5��<A�5�.�/0�1���3�.6�5 (/<�B.)   .���7M��� 
 -2�25 .=�51����3�����45�E%��B�0A  /!��-����:-;��<A�5�.�/0�1E4�3�����45�E%��B�0A  

 
  

�5�	��
<�8��F 6 �A�P�>5�Q8 2554   
13.00 �. 3�@�0&�6� Check in 38&����:-� N �O.<64594���N1  
 

 
�5��5���8��F 7 �A�P�>5�Q8 2554  (�5�9��)  
/K����� N %&9����B�7 404 9����.=�51���B�79��5��<A�5�.�/0�1���3�.6�5 
 

08.15 _ 09.00 �.  4���3,�5�  
09.00 _ 09.15 �.  :AM�3�D2���QR�9,�7����3�����45� 
   �25 I=&9!��<5���.=�51����3�����45�E%��B�0A  
09.15 _ 10.45 �.  �!�E,,�2/9, Pre-test  

   

11.00 R 12.00 �.  
�����:5���	 "���7��5���������������5��C	�4  
    �25   2�.N-P:-�M�1 .�O��  %-<%�&�%&9��YA,-0A���<A3����%1�2/9,     
 

12.00 � 13.00 �.  	
��	
�������	�����
� 

 

13.00 R 13.30 �.  �
������;�F	�����=5�>5�Q8  
�25  2�./7%7�5 ��0A0-��8  <A�5���3��?98��5������� 1  
       9./��M1B-5 B��=�-��1 <A�5���3��?98��5������� 2  
       2�.39�� 3 �AUO-�2�  <A�5���3��?98��5������� 3  

13.30 R 15.00 �.   
�����:5���	 ������S�=:�
�������	��������������(;��P�>, �5=�A, ��U���	�
�=8)  
   �25  2�.N-P:-�M�1 .�O��     %-<%�&�%&9��YA,-0A���<A3����%1�2/9,     
 
15.00 R 16.00 �.  
�����:5���	 �������������J�Q���;�<
   

�25  2�. �r��-0�1  ��9�EK< <A�5���3��?98��5������� 3   
 

16.00 3�@�0&�6�  G-�K�78&9/�/-53:A�730A7  

   �-2%7�5�!�%�2���*�<-�0�96�E4�:-�I�9�0�79-M5�.-5 
 

* ��������   �
�	
��	
�������	���������������� 10.45 � 11.00 �, #�
 �������� 14.45 �. $%��	
��&  
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�5�	5������F 8 �A�P�>5�Q8 2554 (�5���F=	�)   
/K����� N %&9����B�7 404 9����.=�51���B�79��5��<A�5�.�/0�1���3�.6�5 
 

08.15 _ 09.00 �. 4���3,�5� 

09.15 R 11.15 �. ���
�����:5���	 �������A�<8J;��������������, B�
<P5WX8�������������,  
�25   2�.9A/�� /��7�4� �-�<A -5 .=�51����3�����45�E%��B�0A  

 

11.15  R 12.00 �.  ���
�����:5���	 9��������6Y�Z���������������������  
�25   9./��M1B-5 B��=�-��1   <A�5���3��?98��5������� 2 
 

12.00 � 13.00 �.  	
��	
�������	�����
� 
 

/K����� N 9����,&��<A�5�.�/0�1/A�A�M� B-J� 1 %&9� Lab 1 E4� 2 
13.00 R 15.00 �. ������	��;
��[

5<
����������������   
   -  ���/-�3����%13�A�����  �25 2�./7%7�5 ��0A0-��8(������� 1) E4� 9./��M1B-5  B��=�-��1(�������2) 

-  ���/-�3����%1�9��!����� �25 9./7.-�2Ag <��N8�7(������� 1) E4� 2�.39�� 3 �AUO-�2�(������� 3) 
 

15.15 R 16.30 �. ���F��;� ":�	��[

5<
�������������4 
   N Biotec Pilot plant   9��5��<A�5�.�/0�1���3�.6�5 (/<�B.)  .���7M��� 
16.30 �. 3�@�0&�6� G-�K�78&9/�/-5   �-2%7�5�A ���7<-�0�96�E4�:-�I�9�0�79-M5�.-5    
 

* ��������  �
�	
��	
�������	���������������� 10.30 �, #�
������������ 15.00 � 15.15 �.  
 

 
�5�>AQ��F 9 �A�P�>5�Q8 2554 (�5���F=��) 
/K�����  N %&9����B�79����.=�51���B�79��5��<A�5�.�/0�1���3�.6�5  
 

08.15 _ 09.00 �. 4���3,�5� 

09.00 R 12.00 �. Workshop Brainstorming "���=����=�F	���=	���������������	
<5����4  
�25 9./��M1B-5 B=���-��1 <A�5���3��?98��5������� 2 
       2�.39�� 3 �AUO-�2�  <A�5���3��?98��5������� 3 

 

12.00 � 13.00 �. 	
��	
�������	�����
� 
 

13.00 R 16.00 �. B7�9����A������=�	B����  
Commentator  2�.N-P:-�M�1 .�O��  %-<%�&�%&9��YA,-0A���<A3�����2/9,     
   2�./7%7�5 ��0A0-��8  <A�5���3��?98��5������� 1 
  9./7.-�2Ag  <��N8�7 <A�5���3��?98��5������� 1 
        9./��M1B-5 B=���-��1 <A�5���3��?98��5������� 2 
        2�.39�� 3 �AUO-�2�  <A�5���3��?98��5������� 3  

18.00 R 21.30 �. ������L���5
������	�:���F�� (farewell party) W :�	�	�:�� Science cafed ;5L� 2 
 

* ��������   �
�	
��	
�������	���������������� 10.30 �. #�
������������ 14.45 �. $%��	
��&  
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�5�>e:5=
����F 10 �A�P�>5�Q8 2554 (�5���F=�F) 
/K�����  N %&9����B�7 404 9����.=�51���B�79��5��<A�5�.�/0�1���3�.6�5   
09.00 R 10.30 �. ���
�����=�A�:5���	 "9��������=	��������������9������
����=	����� 
 3�����45�67�5��95�������A2n  
 �25  2�.N-P:-�M�1  .�O�� %-<%�&�%&9��YA,-0A���<A3����%1�2/9, 

 

10.45 R 12.00 �. �=���9������F�������
��:U�:5���	   "���=
���W8����������B�9>�������7�������� 
 �������������J��7�9

<���f4  

�25  2�.N-P:-�M�1 .�O��  %-<%�&�%&9��YA,-0A���<A3�����2/9,     
       2�./7%7�5 ��0A0-��8  <A�5���3��?98��5������� 1 

                                          9./7.-�2Ag  <��N8�7  <A�5���3��?98��5������� 1 
       9./��M1B-5 B=���-��1  <A�5���3��?98��5������� 2 
       2�.39�� 3 �AUO-�2�   <A�5���3��?98��5������� 3  
       9.E:���&�  M���7�.  <A�5���3��?98��5������� 3 
 

12.00 � 13.00 �.  �
�	
��	
�������	�����
� 

 

13.00 R 14.00 �.  ���9

��=	
 Post R test / 9

�����
�B�����>Y�>	J� 

 

14.00 R 15.00 �.  >
Q��h�����������	
��9���	
�����6���
5<�>��	��	���F���Y� 
   K��5�=�%7=���<7�-�/32A�����4-,�25/<-/2AO�: 
 

* ��������   �
�	
��	
�������	���������������� 10.30 �. #�
������������ 14.45 �. $%��	
��&  

 
�5�6A��8��F 11 �A�P�>5�Q8 2554  
08.00 �.   3�@�0&�6� Check out  �� �O.<64594���N1 
 
 

 


